DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

DIVISION WITH 10 oo
- —=96680 = 10 = 10 —1223 + 10 =
2 —948.4 + 10 = m =904 -+10 =
9 —761.9 +10 = 8 =717+ 10 =
9 —138.2+10 = 1) —2158 + 10 =
5 —55100 + 10 = 200 9380 =+ 10 =
6 —3128 =~ 10 = 21) —84310 =+ 10 =
7 —0949250 = 10 = 22) —951.7 =10 =
5 —45590 + 10 = 2 —3128 + 10 =
9 —926150 = 10 = 2 —255.2 =10 =
1) —29570 + 10 = 2 —34470 - 10 =
1) —743.5 =10 = 260 —367.8 =10 =
12) —18.6 =10 = a7 —5415 + 10 =
13) —18720 = 10 = 28) —39630 = 10 =
1) —1987 = 10 = 29) —23250 + 10 =
15 —15360 = 10 = 300 —22380 =+ 10 =

Mathematics: Division - Level 6 - Horizontal - Set 5
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